

Tutorial 3

① (a) $(2^n \times 8^{2n})^{\frac{1}{n}}$

$$\begin{aligned}
 &= \cancel{(2^n)^{\frac{1}{n}}} = (2^n \times (2^3)^{2n})^{\frac{1}{n}} \\
 &= (2^n \times 2^{6n})^{\frac{1}{n}} \\
 &= (2^{n+6n})^{\frac{1}{n}} \\
 &= (2^{7n})^{\frac{1}{n}} \\
 &= 2^7
 \end{aligned}$$

(b) $\frac{6^2 x^6}{6^5} = 6^{2-5} x^6$

$$\begin{aligned}
 &= 6^{-3} x^6 \\
 &= \frac{x^6}{6^3}
 \end{aligned}$$

② (a) $\frac{4^{2x+1}}{4^{3+x} \times 4^{2+x}}$

$$= \frac{4^{2x+1}}{4^{3+x+2+x}}$$

$$= \frac{4^{2x+1}}{4^{5+2x}}$$

$$= 4^{2x+1-(5+2x)}$$

$$= 4^{2x+1-5-2x}$$

$$= 4^{-4}$$

$$= \frac{1}{4^4}$$

(b) $\frac{7^{2(k+3)} \times 7^{3k+2} \times 7^{2-k}}{49^{5+3k}}$

$$= \frac{7^{2k+6+3k+2+2-k}}{(7^2)^{5+3k}}$$

$$= \frac{7^{4k+10}}{7^{10+6k}}$$

$$= 7^{4k+10-10-6k}$$

$$= 7^{-2k}$$

$$= \frac{1}{7^{2k}}$$

$$(3) \quad (a) \rightarrow 27^{2x+10} = 9^{3x} (3^{5x})$$

$$(3^3)^{2x+10} = (3^2)^{3x} (3^{5x})$$

$$3^{6x+30} = 3^{6x+5x}$$

$$6x+30 = 6x+5x$$

$$6x+30 = 11x$$

$$6x-6x+30 = 11x-6x$$

$$\frac{5x}{5} = \frac{30}{5}$$

$$x = 6.$$

$$(b) \quad 8^x - 64^{5-x} = 0$$

$$(2^3)^x - (2^6)^{5-x} = 0$$

$$2^x = 2^{30-6x}$$

$$x = 30 - 6x$$

$$x + 6x = 30 - 6x + 6x$$

$$\frac{15x}{15} = \frac{30}{15}$$

$$x = 2.$$



Cr. Dr. Ling Ying Leh
Pegawai Pendidikan Pengajian Tinggi (DH48)
Jabatan Matematik, Sains dan Komputer
Politeknik Kuching Sarawak